

$$\left. \begin{array}{l} ۱! \rightarrow ۱ \\ ۳! \rightarrow ۶ \\ ۵! \rightarrow ۱۲۰ \\ \vdots \\ ۲۵! \rightarrow ۰ \end{array} \right\} \begin{array}{l} \text{جمع یکانها} \\ \rightarrow = ۱+۶=۷ \end{array} \quad \left. \begin{array}{l} ۲! \rightarrow ۲ \\ ۴! \rightarrow ۲۴ \\ ۶! \rightarrow ۷۲۰ \\ \vdots \\ ۲۶! \rightarrow ۰ \end{array} \right\} \begin{array}{l} \text{جمع دهگانها} \\ \rightarrow = ۲+۲۴=۲۶ \end{array}$$

۲۰ یکان $۷ \times ۶ = ۴۲$

$$\sqrt[۴]{\frac{۱}{۴+\sqrt{۵}}} \times \sqrt[۴]{(۱+\sqrt{۵})^۲} = \sqrt[۴]{\frac{۱+۲\sqrt{۵}}{۴+\sqrt{۵}}} = \sqrt[۴]{\frac{۲(۲+\sqrt{۵})}{۴+\sqrt{۵}}} = \sqrt[۴]{۲}$$

$$\left[\frac{\sqrt{۲}+\sqrt{۵}}{\sqrt{۲}(\sqrt{۵}+\sqrt{۲})} \right] \times \left[\frac{\sqrt{۳}-\sqrt{۵}}{\sqrt{۳}+\sqrt{۵}} \right] = \left(\frac{\sqrt{۲}}{۲} \right) \left(\frac{\sqrt{۳}-\sqrt{۵}}{\sqrt{۳}+\sqrt{۵}} \right) = \frac{\sqrt{۲}(\sqrt{۳}-\sqrt{۵})}{2(\sqrt{۳}+\sqrt{۵})}$$

$$\frac{\sqrt{۶}-۲\sqrt{۵}}{۲} \times \frac{\sqrt{۳}-\sqrt{۵}}{\sqrt{۳}+\sqrt{۵}} = \frac{\sqrt{۶}-۲\sqrt{۵}}{۲} \times \frac{(\sqrt{۳}-\sqrt{۵})(\sqrt{۳}-\sqrt{۵})}{(\sqrt{۳}+\sqrt{۵})(\sqrt{۳}-\sqrt{۵})} = \frac{\sqrt{۶}-۲\sqrt{۵}}{۲} \times \frac{\sqrt{۳}-\sqrt{۵}}{۲} = -۱$$

$$\frac{(\sqrt{۲}+\sqrt{۳})(۵-\sqrt{۶})}{۵-\sqrt{۶}} - \frac{۲}{\sqrt{۳}-۱} = \sqrt{۲}+\sqrt{۳} - \frac{۲}{\sqrt{۳}-۱} \rightarrow \frac{۲}{\sqrt{۳}-۱} = \sqrt{۲}+\sqrt{۳}$$

$$\sqrt{۲}+\sqrt{۳} - \sqrt{۳}-۱ = \sqrt{۲}-۱$$

$$\frac{(\sqrt{۳}-۱)(۴+\sqrt{۳})}{۴+\sqrt{۳}} + \frac{۱}{۲-\sqrt{۳}} = \sqrt{۳}-۱ + \frac{۱}{۲-\sqrt{۳}} \rightarrow \frac{(\sqrt{۳}-۱)(۲-\sqrt{۳})+۱}{۲-\sqrt{۳}} \times \frac{۲+\sqrt{۳}}{۲+\sqrt{۳}} = \frac{۲\sqrt{۳}+۱}{۲-\sqrt{۳}}$$

$$\sqrt[۴]{۲} \rightarrow \sqrt[۴]{۲(\sqrt{۳}+\sqrt{۲})} \rightarrow \frac{\sqrt[۴]{۲(\sqrt{۳}+\sqrt{۲})}}{\sqrt[۴]{\sqrt{۳}-\sqrt{۲}}} = \sqrt[۴]{\frac{۲(\sqrt{۳}+\sqrt{۲})^۲}{1}} = \sqrt[۴]{۶+۲} = \sqrt[۴]{۸} = \sqrt{۲}$$

$$\rightarrow \sqrt{۴}+۲-۲\sqrt{۶}$$

$$۲^{\frac{۱}{۱۲}} \times ۲^{\frac{۱}{۱۲}} \times ۲^{\frac{۱}{۶}} \times ۳^{\frac{۱}{۳}} \times ۲^{\frac{۱}{۳}} = ۲^{\frac{۱۲}{۱۲}} \times ۳^{\frac{۱}{۳}} \times ۲^{\frac{۱}{۳}} = ۲ \times ۳ \times ۲ = ۱۲$$

$$\frac{۳^x(۱+۳+۹+۲۷+۸۱+۲۴۳)}{۲^{x-۲}(۱+۲+۴+۸+۱۶+۳۲)} = \frac{۲^x \times \left(\frac{۳}{۲}\right)^x \times \frac{۳^۶-۱}{۳-۱}}{۲^{x-۲} \times \frac{۲^۶-۱}{۲-۱}} = ۵۲$$

$$\frac{۴}{۹} \times \left(\frac{۳}{۲}\right)^x = ۱ \rightarrow x = ۲$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = (a^r - b^r)^r$$

$$\rightarrow (4 + 1 - 1\sqrt{2}) - 1\sqrt{2}(1\sqrt{2}) + 1 + (4 + 1 + 1\sqrt{2}) = 12 - 1\sqrt{2}$$

$$\rightarrow 14(1\sqrt{2})$$

$$a + \frac{1}{a} = A \rightarrow (A+B)^r (A-B)^r = (A^r - B^r)^r$$

$$B = \sqrt{r}$$

$$\left(a^r + \frac{1}{a^r}\right)^r = \left(\sqrt{r-1}\sqrt{r} + \frac{1}{\sqrt{r-1}\sqrt{r}}\right)^r = \frac{r\sqrt{r} + r + \sqrt{r}}{1} = r^r$$

$$r^t = r^r = r^r \rightarrow t = r$$

$$A = r^{\frac{r}{10}} \times r^{\frac{r}{10}} \times r^{\frac{r}{10}} = r^{\frac{r_0}{10}} = r$$

$$(r \times r)^{-\frac{1}{r}} = \left(\frac{1}{r}\right)^{\frac{1}{r}} = \left(\frac{1}{r}\right)$$

$$r = \frac{\sqrt{a}}{\sqrt[10]{a^{10}}} = \sqrt{a-1} = r \rightarrow a^{-r} = r^{\frac{1}{r}} \rightarrow a^{-1} = \sqrt{r}$$

$$(a)^{\frac{10}{r}} \times r$$

$$\left(\frac{1}{a} - r\right) = a^{-1} - r = r(\sqrt{r} - 1)$$

$$\frac{\left(\frac{1}{a} - r\right)}{1 + \sqrt{r}} = \frac{r(\sqrt{r} - 1)}{\sqrt{r} + 1} \times \frac{\sqrt{r} - 1}{\sqrt{r} - 1} = \frac{r(1 - 2\sqrt{r})}{r} = r(1 - \sqrt{r})$$

$$\sqrt{x+a} + \sqrt{x-r} - r = A \rightarrow rA - r - x + r + x + a = a$$

$$\rightarrow rA = a \rightarrow A = \frac{a}{r}$$